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Transverse energy flow for (x) = 0.01, (Q?) = 253 GeV?

F T 17 ‘ T 17 ‘ T 17 ‘ T 17 ‘ T 17 ‘ T 17 ‘ J;
— ——+ —4— Data =
E g H+— Hw730LO@&PS 7
E . ——=t1 Hw 7.3.0 LO ® Dipoles
— T —==Hw 7.3.0 NLO®PS —
E >~ | _— Huez3.0 NLOGPS 5
e s B —— 3.0 Merging
= e __— 713.0 NLO & Dipotegs
3 [ O s N = 7A3.0L0®PS 7
E —t— Hw 734 ®PS
= -+~ Hw720LO0PBPS —
= —+ - Hw 7.2.0 LO {p Dipoles]
= —+ - Hw 7.2.0 NL -
E I ‘ I ‘ | I - 1'\TL ZA ,-JT\}TT Ol P ﬁ
;\ T ‘ T 1T ‘ T 1T L 1w .£.0 l‘T“—JU\CD\l T H
= —+- Hwy ging
= L _—_+'_—,—|—| 2.0 NLO © Dipotes
i 3 L e EREED
1+ T ==

L1 i‘% ke L L ITH

-1 0 1 2 3 4 5



